ApxaHrenbck
Actana (7172)727-132
AcTpaxaHb
BapHayn (3852)73-04-60
Benropoa
BpsaHck (4832)59-03-52
BnaguBocTok
Bonrorpag
(8172)26-41-59

Bonoraa

BopoHnex
ExkaTepuHOypr (343)384-55-89

WBaHoBO

(8182)63-90-72 WxeBCck

(8512)99-46-04 KazaHb

(4722)40-23-64 Kanyra
Kemepol
(423)249-28-31
(844)278-03-48

(473)204-51-73 Kypck

(4932)77-34-06

SB08 ST M D MF

(3412)26-03-58

WpkyTck (395)279-98-46

(843)206-01-48

Kanununrpag (4012)72-03-81

(4842)92-23-67

BO

KpacHosipck
(4712)77-13-04
Nuneuk (4742)52-20-81
Kuprusua (996)312-96-26-47

(3842)65-04-62
Kupos (8332)68-02-04
KpacHopap (861)203-40-90

(391)204-63-61

MaruuToropck
MockBa (495)268-04-70

(3519)55-03-13

MypmaHck (8152)59-64-93
HaGepexHble YenHbl (8552)20-53-41
HwxHuin HoBropog (831)429-08-12

HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73

Omck (3812)21-46-40
Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHsa (8412)22-31-16

KasaxcraH (772)734-952-31

Mepmb  (342)205-81-47
PocTtoB-Ha-[loHy (863)308-18-15
PsasaHb (4912)46-61-64

Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapartoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdpepononb (3652)67-13-56
CmoneHck (4812)29-41-54

Coum (862)225-72-31
CraBpononb (8652)20-65-13
TapxukucTtaH (992)427-82-92-69

https://sbm.nt-rt.ru/ || sfb@nt-rt.ru

SBO8 Swviel Gear Cylinders
Mounting D MF S

Specifications / technical parameters

MA

DA max D1
40 730 70
50 1297 80
63 2266 920
80 3987 95
100 7476 115
125 13141 125
140 18317 145
160 26583 165
180 36334 175

200 52335 195

2203) 92372 200
2503) 152416 220
2803) 182900 250
3203) 325720 320

SB0O8 ST MG MF S

D2

95
105
115
125
145
155
180
200
220
240
245
275
315
395

H

55
66
72
86
100
116
125
140
152
170
200
255
300
320

H1

197
231
253
292
343
390
418
464
518
578
660
775
900
980

LO

275+1.54 a
288+1.75 a
310+1.92a 1)
370+2.09 a
400+2.51 a
464+2.83 a
484+3.14a
511+3.49 a
584+3.77 a 1)
611+4.40 a 1)
1338+5.62 a 1)
1540+7.34 a 1)
1700+8.34 a 1)
1920+9.12 a 1)

184
210
232
257
306
334
354
390
440
500
600
700
800
900

Mounting G MF S

Te]

164
170
194
205
234
274
286
315
390
425
550
590
690
790

D

Specifications / technical parameters

MA

DA max D1
40 1460 70
50 2594 80
63 4532 90
80 7974 95
100 14952 115
125 26282 125
140 36634 145
160 53166 165
180 72668 175

200 104670 195

2203) 184744 200
2503) 304832 220
2803) 365800 250
3203) 651440 320

D2

95
105
115
125
145
155
180
200
220
240
245
275
315
395

H

110
132
144
172
200
232
250
280
304
340
400
510
600
640

HI

210
252
274
327
380
446
482
538
596
656
720
850
1000
1060

LO LI

184
210
232
257
306
334
354
390
440
500
600
700
800
900

164
170
194
205
234
274
286
315
390
425
550
590
690
790

275+1.54a ;
288+1.75a 1
310+1.92a 1
370+2.09a 1
400+2.51a 1
464+2.83a 1
484+3.14a 1
511+3.49a 1
584+3.77a 1
611+4.40a 1
1338+5.62a 1
1540+7.34a 1
1700+8.34a 1
1920+9.12a 1

160
185
200
225
265
285
305
330
380
440
520
620
720
820

160
185
200
225
265
285
305
330
380
440
520
620
720
820

L1 L2 L3 L4

140
146
164
175
194
230
240
255
330
365
470
510
610
710

L2 L3 L4

140
146
164
175
194
230
240
255
330
365
470
510
610
710

Size D MF S (in mm)

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsaHOBCK (8422)24-23-59
Ydba (347)229-48-12
XabapoBck (4212)92-98-04
YensabuHck (351)202-03-61
Yepenosew (8202)49-02-64
ApocnaBnb (4852)69-52-93

RTfDMF S (mm)
M1

02 M2
M22x 1.5 M12x20
M22x 1.5 M12x20

M27x2 M16*25
M27x2 M16x25
M33x2 M20 x 30
M42x2 M24 x 35
M42x2 M24 x 35
M48*2 M30 x 45
M48x2 M30 x 45
M48x2 M30 x 45
M48x2 M36 x 55
M48x2 M36 x 55
M48x2 M36 x 55
M48x2 M36 x 55

Size G MF S (in mm) R'tf' G MF S (mm)

L5 L6 L7 L8 L9 o
79 20 174 105 6 G1/2

90 22 183 125 6 G1/2

100 25 210 140 6 G3/4

105 25 232 150 8 G3/4

129 32 264 165 8 Gl

139 32 304 170 8 Gl 1/4
161 36 310 200 10 Gl 1/4
183 40 334 220 10 Gl 1/2
195 45 400 240 12 Gl 1/2
215 45 458 260 12 Gl 1/2
2 45 560 340 12 Gl 1/2
2) 45 600 380 12 Gl 1/2
2 50 700 420 12 Gl 1/2
2 56 750 480 12 Gl 1/2
L5 L6 L7 L8 L9 ~

79 20 174 105 6 G1/2
90 22 183 125 6 G1/2
100 25 210 140 6 G3l4
105 25 232 150 8 G3/4
129 32 264 165 8 Gl

139 32 304 170 8 Gl 1/4
161 36 310 200 10 Gl 1/4
183 40 334 220 10 Gl 1/2
195 45 400 240 12 Gl 1/2
215 45 458 260 12 Gl 1/2
2) 45 560 340 12 Gl 1/2
2) 45 600 380 12 Gl 1/2
2) 50 700 420 12 Gl 1/2
2) 56 750 480 12 Gl 1/2

M1
02 M2
M22x 1.5 M12x20
M22 x 1.5 M12x20
M27 x2 M16*25
M27x2 M16x25
M33x2 M20 x 30
M42x2 M24 x 35
M42x2 M24 x 35
M48x2 M30 x 45
M48x2 M30 x 45
M48x2 M30 x 45
M48x2 M36 x 55
M48x2 M36 x 55
M48x2 M36 x 55
M48x2 M36 x 55


https://sbm.nt-rt.ru/
mailto:sfb@nt-rt.ru

SBO8

Swviel Gear Cylinders

ORDERING DETAILS SB0O8/iT:£M

Series =S BO08

Hydraulic rotary
executants =ST

Nominal pressure=16MPa =M

Gear rack design

Single gear rack =D
Double gear racks =G
Mounting styles

Flange mounting =MF

Foot mounting =MS

Output design
Shaft output
Hollow Shaft output

Piiston ¢ (40S320mm) See page 2-9

Swiveling angle (0° -360° )

ApxaHrenbck (8182)63-90-72
ActaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BpsaHck (4832)59-03-52
BnagusocTtok (423)249-28-31
Bonrorpag (844)278-03-48
Bonorpga (8172)26-41 -59
BopoHex (473)204-51-73
ExkaTepuHbypr (343)384-55-89
NBaHoBO (4932)77-34-06

Nxesck (3412)26-03-58
NpkyTCck (395)279-98-46
KasaHb (843)206-01-48
KanuHuHrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KpacHopgap (861)203-40-90
KpacHospck (391)204-63-61
Kypck (4712)77-13-04
Nuneuk (4742)52-20-81
Kuprusus (996)312-96-26-47

ORDERING EXAMPLES: SBO8 ST M G MSS /100-90°

Marnutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93

HabepexHble YenHbl (8552)20-53-41
HwxHuit Hosropog (831)429-08-12

HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42
OpeHbypr (3532)37-68-04
Mensa (8412)22-31-16
KasaxctaH (772)734-952-31

(Series)

SB08
M U 02 M W
Furth derails in clear text
color(see color lable)
W=Green:col
Seal version

M=Standard seal system

Connection ports/version

01 = Pipe thread to 1SO 228/1
BSP

02= METRIC SO thread
ISO

End position cushioning
D= Both sides, self adjusting

E= Both sides, adjusting
U= Without

Pressure fluid
M= Mineral oils (DIN 51 524 and 51 525)
(DIN 51 524 fP51 525)
V= Phosphate ester HFD-R
HFD-R

NOTES:

DA=Piston ®

MA=Maximum output torque (NM)
a =Swiveling angle(0° -360° )

1 =The customer according to requests to make

selection
Mepmb  (342)205-81 -47
PocTtoB-Ha-floHy (863)308-18-15
PsasaHb (4912)46-61-64
Camapa (846)206-03-16

CapaTtoB (845)249-38-78
CeBacTonons (8692)22-31-93
Cumceponons (3652)67-13-56
CMoneHck (4812)29-41-54
Coun (862)225-72-31
Craspononb (8652)20-65-13
TapxukuctaH (992)427-82-92-69

https://sbm.nt-rt.ru/] stb@nt-rt.ru

CaHkT-MeTepbypr (812)30976-40

Cypryt (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsiHOBCK (8422)24-23-59
Ypa (347)229-48-12
XabapoBck (4212)92-98-04
Yenabuuck (351)202-03-61
Yepenosel, (8202)49-02-64
fipocnasnb (4852)69-52-93


https://sbm.nt-rt.ru/1%7c
mailto:sfb@nt-rt.ru

